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stan_lab_aut_7 / PLC_1 [CPU 1212C AC/DC/Rly] / Program blocks
Main [OB1]

Main Properties

Name Main Number 1 Type OB Language LAD
Numbering Automatic
Title "Main Program Sweep (Cy- ||Author Comment Family
cle)"
Version 0.1 User-defined ID
Main
Name Data type Default value Comment
w Input
Initial_Call Bool Initial call of this OB
Remanence Bool =True, if remanent data are available
Temp
Constant
Network 1:
%DB1
"IEC_Timer_0_DB"
%M4.2 TP %Q0.0
"zat_zaw1" Time "ZAWR1A"
L g (/)
T#200MS — pT ET — T#0ms
%Q0.1
"ZAWOR1B"
| 1
\ 7
%DB2
"IEC_Timer_0_
DB_1"
%M4.3 TP %Q0.2
"zat_zaw2" Time "ZAWOR2A"
| — Q {/}
T#200MS — pT ET — T#0ms
%Q0.3
"ZAWOR2B"
| 1
1 7
%DB6
"IEC_Timer_0_
DB_2"
%M4.4 TP %Q0.4
"zat_zaw3" Time "ZAWOR3A"
| — Q {/}
T#200MS — pT ET — T#0ms
%Q0.5
"ZAWOR3B"
| 1
\ I

Network 2:
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%M4.7
"reczny_prawo"

—| I_ JogForward

_| I_ JogBackward

%DB4
"MC_Power_DB_1"
%I0.2 MC_Power )
"zielony" %
—/F———&n ENO
%DB3 Status =i false
"Axis_1" Axis Error —ifalse
1 = Enable
1~ StartMode
0 — StopMode -
%DB9
"MC_Reset_DB"
MC_Reset
[ EN ENO ——
%DB3 Done —ifalse
"Axis_1" Axis Error —ifalse
%10.2
"zielony"
_| |_ Execute -
%DB5
"MC_Home_DB_1"
MC_Home
EN ENQO —
%DB3 Done —ifalse
"Axis_1" Axis Error —ifalse
%DB10
"IEC_Timer_0_
DB_3"
%M4.5 TP
"bazowanie" Time
—| I_ IN Q Execute
T#10MS — pT ET — T#0ms 200.0 — Position
Mode v
Network 3:
NORM_X
Int to Real
EN
0~ MIN %MD10
%IW64 OuT — "norm_adc_1"
"adc_1" — VALUE
300 MAX
%DB7
"MC_Movelog_
DB"
MC_Movelog
[N ENO —
%DB3 InVelocity —false
"Axis_1" Axis Error =i false
%M4.6
"reczny_lewo"

Valid =t false

Error —ifalse

100.0 — Velocity —
%DB11
"MC_
ReadParam_DB"
MC_ReadParam
Real .
p————————EN ENQ =—
1= Enable
"Axis_1".Position Parameter —ifalse
%MD12
"norm_adc_2" Value

16#0
16#0

Network 4:

Sterowanie cyklem pracy
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%DB8
"MC_
MoveAbsolute_
DB"

MC_MoveAbsolute

ENO

EN
%DB3 Done =—ifalse
"Axis_1" Axis
%I0.2
"zielony"

—— ——— Execute

256.0 — Position

Error =—=ifalse

40.0 — Velocity
%DB13 %DB12
"IEC_Timer_0_ "IEC_Timer_0_
DB_5" B_4"
%I0.2 TP TON %M4.4
"zielony" Time Time "zat_zaw3"
— ——n Q IN Q—— }—
T#10s PT ET T#0ms T#5s PT ET T#0ms
%DB14
"MC_
MoveAbsolute_
DB_1"
MC_MoveAbsolute
EN ENO —
%DB3 Done —ifalse
"Axis_1" Axis Error —ifalse
%DB15
"IEC_Timer_0_
DB_6"
%M4.4 TON
"zat_zaw3" Time
_| I_ IN Q Execute
TH#4s — pPT ET — T#0ms 178.0 — Position
30.0 — Velocity v




